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Q) SSC CPO/CHSL/CGL TIER Il 2023 1000 QUESTION SERIES

A number consists of two digits, If the number formed by
1 interchanging the digits is added to the original number, the
resulting number (ie. e the sum) must be divisible by —

IT 3T T T&AT 8, TTQ SRl FT AT TIAFRL ,STSHE qATS, TS
H&IT g1 G&AT ¥ SIIE QA ATt g, qv Tiormdt §&qr (It 3t

T ) T AT AT A1fe T -
[A 1}

=
C.5
D.3
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2 When n is divisible by 5 the reminder is 2. What is
the remainder when n? is divided by 57

ST n F 5 q AT F3T ST a7 quwS 2 fA=rar 2

n2 Y 5 ¥ faaTiSra 3 a< =T AuET @'rrr’.;)z

2) 3
3) 1
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How many 3 digit numbers, in all are divisible
3 by 6?

fohaer 3 Sl T H&AT, ST AT 6 F fawTsT 87

(1) 140
[2) 160
(3) 160
(4) 170
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7 84 Math's books, 90 physics books and 120 'f
4Chemistry books have to be stacked topic wise.
How many books will be there in each stack so
that each stack will have the same height too?

84 #rex &t fharar, 90 fofSrar &t o 3l 120
HIAEET T T Dl AT ATH HAT T TAF )R
ﬁﬁmﬁﬁmﬁ#ﬁm&%éﬁﬁ%

qHTT BI7?

(4) 21
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The total number of prime factors in 419x73
x163x11 x 102 is
FA AT [I@ST I HG&IT ATA HL?

(1) 34

iZE 35

Y
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The bowling average of cricketer was 12.4. He improves
7 his bowling average by 0.2 points when he takes 5 wickets
for 26 runs in his last match. The number of wickets taken
by him before the last match was-

e FT AQATSIT ST 12.4 9T T Y AT e | 0.2
I FHT FHUTT AT g IS 98 A AL AT § 26 TTIHL 5
fase A &1 sferdt &= & wgw S aT fog g feset i

T ofi- (1)
125

150




ratio 5 : 3 and 5 : 4 respectively. In what ratio, the
liquids in both the vessels be mixed to obtain a new
mixture in vessel C in the ratio 7 : 5?

<7 STETSIT A i B # I i qTHT 74 5: 33X 5: 4 %
FUTa | g1 5 AaTa ¥, A1 9 9 gerd e s

qTfeh 7T SATITT 7: 5 F ST | T AT ? m
(2) 3:2
(3) 3:5
4)2:5
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() In an alloy there is 12% of copper. To get 69 kg of

copper, how much alloy will be required?
T f8sy &g § qia F7 12% rav g1 69 fFenumy aiar e
w4 & T, fhaeT sy g & srarsgswar geit?

1) 424 kg

9

(3) 828 kg
(4) 1736

(2/3) kg
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A fruit seller buys some oranges and by selling 40% of them he realizes
the cost price of all the oranges. As the oranges being to grow over-ripe,
he reduces the price and sells 80% of the remaining oranges at half the
previous rate of profit. The rest of the oranges being rotten are thrown
away. The overall percentage of profit is-
TF FAQAFAT TS AL @UAT g AL ITH q 40% a9 98 T Ga¥ i FiAa
T TEHTH FAT g ﬁwﬁaﬁﬁaﬁﬂﬁwgw@%%w FNTT FH T
AT g 3T AT AL ¥ 80% W Fit faeeft s e a=ar ) aﬁ?raa’(a%@%r%
1T e fIT SITa §1 AT 7 Ft widera g-

oll
(2) 84
(3) 94
(4) 96




A house and a shop were sold for Rs. 1 lakhe each. In this transaction,
the house sale resulted into 20% loss whereas the shop sale into 20%
profit. The entire transaction resulted in :

TF 9 3T T THA 1 TAD 1 79 | 997 747 | 59 A9 J, g6t fashr d
20% Y BTN g, STafah ganTe i fasht § 20% AT g3 IO AT &
TRUTTHEI&:

(1) Gain of Rs. 1/24 lakh
(3) No gain No loss
(4) Loss of Rs. 1/18 lakh
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@®” A sum becomes Rs. 4500 after two years and Rs.
6750 after four years at compound interest. The sum
IS-

TF T & 97 & 978 € 4500 X Tohgfeg sATS I T
A F IS T 6750 BT STAT g AV HALT F9T T2

(1) Rs. 4000

(2)[Rs. 2500]

(3) Rs. 3000
(4) Rs. 3050
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A alone can do a piece of work in 6 days and B alone in 8 days. A
and B undertook to do it for Rs. 3200. With the help of C they
3 completed the work in 3 days. How much is to be paid to C?

Qﬂﬁmsﬁﬂ‘rﬁmwwéaﬂTBﬁﬂ‘rﬁBml AR B 7 59
T7d 3200. Ff Rrg FAT gF fFar, CFrasg a s 3 R A s

aw'{ﬁrmca?rﬁﬁmwwg?
(1)[Rs. 375]

(2) Rs. 400
(3) Rs. 600
(4) Rs. 800




Two guns are fired from the same place at an interval of 6 minutes. A
person approaching the place observes that 5 minutes 52 seconds
have elapsed between the hearing of the sound of the two guns. If the
velocity of the sound is 330 m/se, the man was approaching that
place at what speed (in km/hr) ?

I ¥ 6 A7 F SaUT W TH & g F IR =AY . S ST 9T
Tl TR T FGAT & T QI Sgehl =t TS A1 & 1= 5 e 52 a5
fiagF gl AR A FTITI0I¥E A ag AT ST M R Fa aia &

e §1§ 24

(3) 30
(4) 36
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@PA Given 13 + 23+ ..10% = 3025 then3+ 43 + 63 + ... + 20% is
equal to-

(1) 6050
(2) 9075
3) 12100
(4) 24300
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i |
If x=(v2 + 1) 2, the value of

6 (x3 —i) is

x3

(1) 0

égﬁ\/f

(4) 3v2
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_V5+1 V5-1
If a = N and b = N then the value of

a’+ab+b? .

a’—ab+b? (1)1

2) 3/5

(4) 4
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1000 QUESTION SERIES
If a+ b + ¢ =0, then the value of

8 (whybteyctay(a b, <)
C a b b+c c+a a+b

(1) 8

&53

(4)0
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S )
If tan 159 = 2 -+/3 , the value of tan 15° cot 75° + tan
759 x cot 15°

(1) 13
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— sina—cosa
If tan O =

: then sina + cosa Is
Sina+cosa

(1) vz tan®@

(2) V2 COS¢
(3) le sine
(4) — CosO
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Each interior angle of a regular polygon is three times its exterior

angle, then the number of sides of the regular polygon is :

9 o i T w1 AT AARE T 5@ gl F10 A A9 e, e
afRa agyer & vt T =1 R

(1) 9
(3) 10
(4)7
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The perimeters of two similar triangle ABC and PQR are 36 cm and
24cm respectively. If PQ = 10 cm, then AB is
3 < g9 st ABC 3 PQR it aifer searsr: 36 9T siiw 24 9+t g1 i

PQ=109#t,aTAB ¢
(1) 5 cm |

(2) 12 cm
(3) 14 cm
(4) 26cm
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Question of the

The length of the common cﬁlc?lx of two intersecting circles is
24cm .If the diameter of the circles are 30 cm and 26 cm,
then the distance between the centre (in cm) is —

QT AT ST T ATH AT ht FaTs 24 9HT 81 T Tohet T
A 30 qHT R 26 T &, AT Fg (@A) F T Fr g 8 -

- (1)13 (2) 14 (3) 15 (4) 16







